TR B BT R T 2 AR T R B S S B A 7
hikes 44 Ll T4 | Bt | A
1 E &I L 5 5% 86. 2 72 79. 1
2 B H 1 2% 77.6 80 78.8
3 gk BH i HL TR 55 82.4 67 74. 7
4 A U i L 7 55 81.4 67 74.2
5 Y S [ s 89. 4 71 80. 2
6 THEE [ s 83.8 70 76.9
7 pe) I ] s 80. 4 67 73.7
8 Tz PRI H R 88. 8 76 82. 4
9 =] e it RIS R 81.8 68 74.9
10 7Lk PEERS AR 80 67 73.5
11 KR G b= 87.4 74 80.7
12 BB G 82 68 75
13 I i SRt 82.8 65 73.9
14 £EJT P2 88.2 76 82. 1
15 A aE 2t 83.6 75 79.3
16 NG S 83.4 72 77.7
17 HEF Sl 76. 4 72 74.2
18 R P2 75. 4 72 73.7
19 sk EitE TR 85. 6 57 71.3
20 4 T 83.4 56 69. 7
21 FE O TR 82 53 67.5
22 Gl TR 82.8 50 66. 4
23 Yol s TR 79.6 51 65. 3
24 x| BREBURHE 87.2 68 77.6
25 WEH s | BEBUAHE 83.4 70 76.7
26 2y | BEBUAHE 87.8 64 75.9
27 T P BHEENEHE 84. 6 64 74.3
28 AR | BHEBUARHE 81.8 65 73.4
29 BET | BEBURHE 78.8 65 71.9
30 X BAEBUEHE TR 64 32
31 Tk R F] PUE &5 85. 6 72 78.8
32 S =D 88. 4 65 76.7
33 B S i PUE & A 85. 2 65 75. 1
34 6 GOEE 86. 2 66 76. 1
35 r¥E GOEE 88. 6 62 75.3
36 ZMLE | JEEIE W 81.4 66 73.7
37 TR EH R FEAMl 85. 4 58 71.7
38 iK% SRl 80 52 66
39 XK S e 83.6 48 65. 8
40 b Hahik 86 77 81.5
41 R Hahth 85 75 80
42 L H sk 82. 6 73 77.8
43 AR Hahtb 83. 4 68 75.7
44 H AR H zh it 79. 4 69 74.2
45 g 98 H #hit 81.2 67 74. 1
46 % UL Ao AL I8 88.2 84 86. 1
47 AL A AL IR 87.8 84 85.9
48 KET Fvi A 38 87.4 80 83.7




49 R TiTNA A% IR 84.8 75 79.9
50 &5 7] AL IR 81.8 70 75. 9
51 1A 7 8 AL IR 82. 6 68 75.3
52 HEf AL IR 82.4 68 75. 2
53 X T A% IR 80. 8 69 74.9
54 5 AL IR 79.6 69 74. 3
55 B kA BH +ARTHE 86 76 81

56 LRI +ARTHR 83.2 75 79. 1
57 AT B 2% +ARTHE 81.6 74 77.8




